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1. %abeR Hb#0, Ac LR[z];) HAR Vf(z) € Rz]s, A(f(2)) = flaz +b) & X.
(i) T A BRHIE 2 T
(i) ¥ a=0,a =1,a=—1 M a ¢ {-1,0,1}, i+5 specg(A);
(iti) X Bk o FIHUE IR ATES A AT LUK .
(iv) Xt ik o WEUETTHS M Rix]; & A fGRT.

2. W AcMy(F) Hp=xalt). & ¢ € LM, (F)) HAR VX € M, (F), ¢(X) = AX
(i) FIH p R ¢ MRAEZ TR
(i) specp(A) Fl specp(p) ZIFHIZREHA?
(P 2 W T —dH 1.6.)

3. W n=dm(V), Ac L(V). IEMH: W& A% A,... A E F EgtETx, v &
A-TEIRH.

4. W ABe L(V) H AB =BA. iEH: A )7 SURHIE T 25100 & B-AAZ ).

5. (M) % A e L(V), £ € N flifd ker(AY) = ker(A“). IEBH: XHEE i € ZT,
ker(A?) = ker(A“).



